



## **Dispersion:**

describes the motion of particles with momentum deviation  $\Delta p/p$ 

$$x'' + K(s) * x = \frac{1}{\rho} \frac{\Delta p}{p}$$

→special solution of the inhomogeneous differential equation:

$$x_i(s) = D(s) * \Delta p / p$$

 $\rightarrow$  extend the matrices to include D, D'

$$\begin{pmatrix} x \\ x' \end{pmatrix}_{S} = \begin{pmatrix} C & S \\ C' & S' \end{pmatrix} * \begin{pmatrix} x \\ x' \end{pmatrix}_{0} + \frac{\Delta p}{p} \begin{pmatrix} D \\ D' \end{pmatrix}$$
$$\begin{pmatrix} x \\ x' \\ \frac{\Delta p}{p} \end{pmatrix}_{S} = \begin{pmatrix} C & S & D \\ C' & S' & D' \\ 0 & 0 & 1 \end{pmatrix} * \begin{pmatrix} x \\ x' \\ \frac{\Delta p}{p} \end{pmatrix}_{0}$$

## **Dispersion:**

the dispersion function D(s) is (...obviously) defined by the focusing properties of the lattice and from position  $s_{\theta}$  to s in the lattice it is given by:

$$D(s) = S(s)^* \int_{0}^{s} \frac{1}{\rho(\tilde{s})} C(\tilde{s}) d\tilde{s} - C(s)^* \int_{0}^{s} \frac{1}{\rho(\tilde{s})} S(\tilde{s}) d\tilde{s}$$

! weak dipoles  $\rightarrow$  large bending radius  $\rightarrow$  small dispersion

Example: Drift

$$M_{D} = \begin{pmatrix} 1 & \ell \\ 0 & 1 \end{pmatrix} \qquad D(s) = S(s)^{*} \int \frac{1}{\underline{\rho(\tilde{s})}} C(\tilde{s}) d\tilde{s} - C(s)^{*} \int \frac{1}{\underline{\rho(\tilde{s})}} S(\tilde{s}) d\tilde{s}$$
$$= 0$$

 $\rightarrow M_{D} = \begin{pmatrix} 1 & \ell & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix}$  ...in similar way for quadrupole matrices, !!! in a quite different way for dipole matrix (see appendix)



matrix of the half cell 
$$M_{half Cell} = \begin{pmatrix} 1 & 0 \\ \frac{1}{\tilde{f}} & 1 \end{pmatrix} * \begin{pmatrix} 1 & \ell_{D} \\ 0 & 1 \end{pmatrix} * \begin{pmatrix} 1 & 0 \\ -\frac{1}{\tilde{f}} & 1 \end{pmatrix}$$
  
... neglecting as usual the weak focusing term of the dipole 
$$M_{half Cell} = \begin{pmatrix} C & S \\ C' & S' \end{pmatrix} = \begin{pmatrix} 1 - \frac{\ell_{D}}{\tilde{f}} & \ell_{D} \\ -\frac{\ell_{D}}{\tilde{f}^{2}} & 1 + \frac{\ell_{D}}{\tilde{f}} \end{pmatrix}$$
  
2.) calculate the dispersion terms D, D' from the matrix elements
$$D(s) = S(s) * \int_{S_{0}}^{S} \frac{1}{\rho(\tilde{s})} C(\tilde{s}) d\tilde{s} - C(s) * \int_{S_{0}}^{S} \frac{1}{\rho(\tilde{s})} S(\tilde{s}) d\tilde{s}$$
$$D(\ell_{D}) = \ell_{D} * \frac{1}{\rho} * \int_{0}^{\ell} \left(1 - \frac{s}{\tilde{f}}\right) ds - \left(1 - \frac{\ell_{D}}{\tilde{f}}\right) * \frac{1}{\rho} * \int_{0}^{\ell} s ds$$
$$D(\ell_{D}) = \frac{\ell_{D}}{\rho} \left(\ell_{D} - \frac{\ell_{D}^{2}}{2\tilde{f}}\right) - \left(1 - \frac{\ell_{D}}{\tilde{f}}\right) * \frac{1}{\rho} * \frac{\ell_{D}^{2}}{2} = \frac{\ell_{D}^{2}}{\rho} - \frac{\ell_{D}^{3}}{2\tilde{f}\rho} - \frac{\ell_{D}^{3}}{2\rho} + \frac{\ell_{D}^{3}}{2\tilde{f}\rho}$$
$$D(\ell_{D}) = \frac{\ell_{D}^{2}}{2\rho}$$











Lattice Design: Insertions	
I.) the most complicated one: the drift space	
Question to the auditorium: what will happen to the beam parameters $\alpha$ , $\beta$ , $\gamma$ if we stop focusing for a while?	
$ \begin{pmatrix} \boldsymbol{\beta} \\ \boldsymbol{\alpha} \\ \boldsymbol{\gamma} \end{pmatrix}_{S} = \begin{pmatrix} C^{2} & -2SC & S^{2} \\ -CC' & SC' + S'C & -SS' \\ C'^{2} & -2S'C' & S'^{2} \end{pmatrix} * \begin{pmatrix} \boldsymbol{\beta} \\ \boldsymbol{\alpha} \\ \boldsymbol{\gamma} \end{pmatrix}_{0} $	
transfer matrix for a drift: $M = \begin{pmatrix} C & S \\ C' & S' \end{pmatrix} = \begin{pmatrix} 1 & s \\ 0 & 1 \end{pmatrix}$	
$\beta(s) = \beta_0 - 2\alpha_0 s + \gamma_0 s^2$ $\alpha(s) = \alpha_0 - \gamma_0 s$ $\gamma(s) = \gamma_0$	"0" refers to the position of the last lattice element "s" refers to the position in the drift



















**Optics guide line:** 

- \* calculate the periodic solution in the arc
- \* introduce the drift space needed for the insertion device (detector ...)
- \* put a quadrupole doublet (triplet ?) as close as possible
- \* introduce additional quadrupole lenses to match the beam parameters
- $\alpha,\beta,\gamma,D,D'$  o the values at hte beginning of the arc structure

parameters to be optimised & matched to the periodic solution:

















matrix of the half cell  

$$M = \begin{pmatrix} 1 & 0 \\ \frac{1}{f} & 1 \end{pmatrix} * \begin{pmatrix} 1 & l \\ 0 & 1 \end{pmatrix} * \begin{pmatrix} 1 & 0 \\ -1 & 1 \end{pmatrix}$$
... neglecting as usual the weak focusing term of the dipole  

$$M = \begin{pmatrix} C & S \\ C' & S' \end{pmatrix} = \begin{pmatrix} 1 - \frac{l}{f} & l \\ -\frac{l}{f^2} & 1 + \frac{l}{f} \end{pmatrix}$$

$$D(l) = S(l) * \int \frac{1}{\rho(s)} C(s) ds - C(l) * \int \frac{1}{\rho(s)} S(s) ds$$

$$D(l) = l * \frac{1}{\rho} * \int_{0}^{l} (1 - \frac{s}{f}) ds - (1 - \frac{l}{f}) * \frac{1}{\rho} * \int_{0}^{l} s ds$$

$$= \frac{l}{\rho} (l - \frac{l^2}{2f}) - (1 - \frac{l}{f}) * \frac{1}{\rho} * \frac{l^2}{2} = \frac{l^2}{\rho} - \frac{l^2}{2f\rho} - \frac{l^2}{2\rho} + \frac{l^3}{2f\rho}$$

$$D(l) = \frac{l^2}{2\rho}$$

Expression for D'  

$$D'(l) = S'(l)^* \left[ \frac{1}{\rho(\tilde{s})} C(\tilde{s}) d\tilde{s} - C'(l)^* \right] \frac{1}{\rho(\tilde{s})} S(\tilde{s}) d\tilde{s}$$

$$D'(l) = (1 + \frac{l}{\tilde{f}})^* \frac{1}{\rho}^* \left[ (1 - \frac{s}{\tilde{f}}) ds + \frac{l}{\tilde{f}^2} * \frac{1}{\rho} * \frac{s}{\tilde{s}} ds$$

$$= \left( 1 + \frac{l}{\tilde{f}} \right)^* \frac{1}{\rho} * (l - \frac{l^2}{2\tilde{f}}) + \frac{1}{\tilde{f}^2} * \frac{1}{\rho} * \frac{l^2}{2}$$

$$= \left( \frac{1}{\rho} + \frac{l}{\tilde{f}\rho} \right)^* (l - \frac{l^2}{2\tilde{f}}) + \frac{l^3}{2\rho\tilde{f}^2}$$

$$= \frac{l}{\rho} + \frac{l^2}{2\tilde{f}\rho}$$

$$D'(l) = \frac{l}{\rho} (1 + \frac{l}{2\tilde{f}})$$

Complete Matrix including the terms for 
$$\mathbf{D}, \mathbf{D}^{\star}$$
:  

$$M = \begin{pmatrix} C & S & D \\ C' & S' & D' \\ 0 & 0 & 1 \end{pmatrix} = \begin{pmatrix} 1 - \frac{l}{\tilde{f}} & l & \frac{l^{\star}}{2\rho} \\ -\frac{l}{\tilde{f}^{2}} & 1 + \frac{l}{\tilde{f}} & \frac{l}{\rho}(1 + \frac{l}{2\tilde{f}}) \\ 0 & 0 & 1 \end{pmatrix}$$
require boudary conditions for half cell solution:  

$$\begin{pmatrix} \check{D} \\ 0 \\ 1 \end{pmatrix} = M_{1/2} * \begin{pmatrix} \hat{D} \\ 0 \\ 1 \end{pmatrix} \qquad \rightarrow \quad \check{D} = \hat{D}(1 - \frac{l}{\tilde{f}}) + \frac{l^{\star}}{2\rho} \quad (1) \\ \rightarrow \quad 0 = -\frac{l}{\tilde{f}^{2}} * \hat{D} + \frac{l}{\rho}(1 + \frac{l}{2\tilde{f}}) \quad (2)$$

$$(1) - (2) * \tilde{f} \qquad \rightarrow \quad \check{D} = \hat{D} + \frac{l^{\star}}{2\rho} - \frac{l\tilde{f}}{\rho}(1 + \frac{l}{2\tilde{f}}) \\ \check{D} = \hat{D} - \frac{\tilde{f}}{\rho} = \hat{D} - \frac{\tilde{f}}{\rho}$$

put result in (1)  

$$\rightarrow \hat{D} - \frac{\tilde{f}\tilde{f}}{\rho} = \hat{D} - \hat{D}\frac{l}{\tilde{f}} + \frac{l^{2}}{2\rho}$$

$$\frac{\tilde{f}\tilde{f}}{\rho} + \frac{l^{2}}{2\rho} = \hat{D}\frac{l}{\tilde{f}}$$

$$\hat{D} = \frac{\tilde{f}^{2}}{\rho} + \frac{\tilde{f}l}{2\rho} = \frac{\tilde{f}^{2}}{\rho}(1 + \frac{l}{2\tilde{f}})$$
remember:  

$$\frac{l}{\tilde{f}} = \sin\frac{\mu}{2}$$

$$\rightarrow \hat{D} = \frac{\tilde{f}^{2}}{\rho}(1 + \frac{l}{2}\sin\frac{\mu}{2})$$

$$\rightarrow \check{D} = \frac{\tilde{f}^{2}}{\rho}(1 - \frac{l}{2}\sin\frac{\mu}{2})$$

$$\hat{D} = \frac{\tilde{f}^{2}}{\rho}\frac{l^{2}}{l^{2}}(1 + \frac{l}{2}\sin\frac{\mu}{2})$$

$$\hat{D} = \frac{\tilde{f}}{\rho}\left(\frac{1 + \frac{l}{2}\sin\frac{\mu}{2}}{\sin^{2}\frac{\mu}{2}}\right)$$

$$\check{D} = \frac{r}{\rho}\left(\frac{1 - \frac{l}{2}\sin\frac{\mu}{2}}{\sin^{2}\frac{\mu}{2}}\right)$$

**Dispersion:** Example: Dipole sector magnet 
$$\psi = \ell^* \sqrt{K}$$
  $k = 0, \ K = \frac{1}{\rho^2}$ .  
K describes in this case only the weak focusing term in the dipole  

$$M = \begin{pmatrix} C & S \\ C' & S' \end{pmatrix} = \begin{pmatrix} \cos \psi & \frac{1}{\sqrt{K}} \sin \psi \\ -\sqrt{K} \sin \psi & \cos \psi \end{pmatrix} = \begin{pmatrix} \cos \frac{\ell}{\rho} & \rho \sin \frac{\ell}{\rho} \\ \frac{-1}{\rho} \sin \frac{\ell}{\rho} & \cos \frac{\ell}{\rho} \end{pmatrix}$$

$$D(s) = S(s)^* \left[ \frac{1}{\rho(\tilde{s})} C(\tilde{s}) d\tilde{s} - C(s)^* \right] \frac{1}{\rho(\tilde{s})} S(\tilde{s}) d\tilde{s}$$

$$= \rho \sin \left( \frac{\ell}{\rho} \right) * \frac{1}{\rho} * \rho * \sin \left( \frac{\ell}{\rho} \right) - \cos \left( \frac{\ell}{\rho} \right) * \frac{1}{\rho} * \rho * \left( 1 - \cos \left( \frac{\ell}{\rho} \right) \right) * \rho$$

$$= \rho \sin^2 \left( \frac{\ell}{\rho} \right) + \rho * \cos \left( \frac{\ell}{\rho} \right) * (\cos \left( \frac{\ell}{\rho} \right) - 1)$$

$$= \rho \left\{ \sin^2 \left( \frac{\ell}{\rho} \right) + \cos^2 \left( \frac{\ell}{\rho} \right) - \cos \left( \frac{\ell}{\rho} \right) \right\}$$





transformation of twiss parameters:  

$$\begin{pmatrix} \beta \\ \alpha \\ \gamma \end{pmatrix}_{s} = \begin{pmatrix} C^{2} & -2SC & S^{2} \\ -CC' & SC'+S'C & -SS' \\ C'^{2} & -2S'C' & S'^{2} \end{pmatrix}^{*} \begin{pmatrix} \beta \\ \alpha \\ \gamma \end{pmatrix}_{s}$$

$$\beta(s) = C^{2} * \beta_{0} - 2SC * \alpha_{0} + S^{2} * \gamma_{0}$$
now we add the boundary condition  
for a symmetric problem:  $\alpha_{0} = 0$   $\rightarrow \gamma_{0} = \frac{1 + \alpha_{0}^{2}}{\beta_{0}} = \frac{1}{\beta_{0}}$ 

$$\beta(s) = C^{2} * \beta_{0} + S^{2} / \beta_{0}$$
using the matrix elements calculcated above for the doublet:  

$$\frac{\beta(s) = (1 + l_{1}^{2})^{2} * \beta_{0} + \frac{1}{2} \left( (1 + l_{1} + l_{1}^{2})^{2} \right)^{2}$$

 $=(1+\frac{1}{f_1})^{-1}p_0^{-1}+\frac{1}{\beta_0}(l_1+l_2+\frac{1}{f_1})$ 



## 2.) calculate the dispersion D in the periodic part of the lattice

transfer matrix of a periodic cell:

$$M_{0\to S} = \begin{pmatrix} \sqrt{\frac{\beta_{S}}{\beta_{0}}}(\cos\phi + \alpha_{0}\sin\phi) & \sqrt{\beta_{S}\beta_{0}}\sin\phi \\ \frac{(\alpha_{0} - \alpha_{S})\cos\phi - (1 + \alpha_{0}\alpha_{S})\sin\phi}{\sqrt{\beta_{S}\beta_{0}}} & \sqrt{\frac{\beta_{0}}{\beta_{S}}}(\cos\phi - \alpha_{S}\sin\phi) \end{pmatrix}$$

for the transformation from one symmetry point to the next (i.e. one cell) we have:  $\Phi_C$  = phase advance of the cell,  $\alpha$  = 0 at a symmetry point. The index "*c*" refers to the periodic solution of one cell.

$$M_{cell} = \begin{pmatrix} C & S & D \\ C' & S' & D' \\ 0 & 0 & 1 \end{pmatrix} = \begin{pmatrix} \cos \boldsymbol{\Phi}_c & \boldsymbol{\beta}_c \sin \boldsymbol{\Phi}_c & D(l) \\ \frac{-1}{\boldsymbol{\beta}_c} \sin \boldsymbol{\Phi}_c & \cos \boldsymbol{\Phi}_c & D'(l) \\ 0 & 0 & 1 \end{pmatrix}$$

The matrix elements D and D' are given by the C and S elements in the usual way:

$$D(l) = S(l) * \int_{0}^{l} \frac{1}{\rho(\tilde{s})} C(\tilde{s}) d\tilde{s} - C(l) * \int_{0}^{l} \frac{1}{\rho(\tilde{s})} S(\tilde{s}) d\tilde{s}$$
$$D'(l) = S'(l) * \int_{0}^{l} \frac{1}{\rho(\tilde{s})} C(\tilde{s}) d\tilde{s} - C'(l) * \int_{0}^{l} \frac{1}{\rho(\tilde{s})} S(\tilde{s}) d\tilde{s}$$

here the values C(l) and S(l) refer to the symmetry point of the cell (middle of the quadrupole) and the integral is to be taken over the dipole magnet where  $\rho \neq 0$ . For  $\rho = \text{const}$  the integral over C(s) and S(s) is approximated by the values in the middle of the dipole magnet.



Transformation of C(s) from the symmetry point in the foc. quad to the center of the dipole:

$$C_{m} = \sqrt{\frac{\beta_{m}}{\beta_{c}}} \cos \Delta \Phi = \sqrt{\frac{\beta_{m}}{\beta_{c}}} \cos(\frac{\Phi_{c}}{2} \pm \varphi_{m}) \qquad S_{m} = \beta_{m}\beta_{c}\sin(\frac{\Phi_{c}}{2} \pm \varphi_{m})$$

where  $\beta_C$  is the periodic  $\beta$  function at the beginning and end of the cell,  $\beta_m$  its value at the middle of the dipole and  $\phi_m$  the phase advance from the quadrupole lens to the dipole center.

Now we can solve the intergal for D and D':

$$D(1) = S(1)^* \int_0^t \frac{1}{\rho(\tilde{s})} C(\tilde{s}) d\tilde{s} - C(1)^* \int_0^t \frac{1}{\rho(\tilde{s})} S(\tilde{s}) d\tilde{s}$$
$$D(1) = \beta_c \sin \Phi_c^* \frac{L}{\rho} \sqrt{\frac{\beta_m}{\beta_c}} \cos(\frac{\Phi_c}{2} \pm \varphi_m) - \cos \Phi_c^* \frac{L}{\rho} \sqrt{\beta_m \beta_c} \sin(\frac{\Phi_c}{2} \pm \varphi_m)$$

$$D(1) = \delta \sqrt{\beta_m \beta_c} \left\{ \sin \Phi_c \left[ \cos\left(\frac{\Phi_c}{2} + \varphi_m\right) + \cos\left(\frac{\Phi_c}{2} - \varphi_m\right) \right] - \cos \Phi_c \left[ \sin\left(\frac{\Phi_c}{2} + \varphi_m\right) + \sin\left(\frac{\Phi_c}{2} - \varphi_m\right) \right] \right\}$$
  
I have put  $\delta = L/\rho$  for the strength of the dipole  
remember the relations  $\cos x + \cos y = 2\cos\frac{x+y}{2} + \cos\frac{x-y}{2}$   
 $\sin x + \sin y = 2\sin\frac{x+y}{2} + \cos\frac{x-y}{2}$   

$$D(1) = \delta \sqrt{\beta_m \beta_c} \left\{ \sin \Phi_c + 2\cos\frac{\Phi_c}{2} + \cos\varphi_m - \cos\Phi_c + 2\sin\frac{\Phi_c}{2} + \cos\varphi_m \right\}$$
  

$$D(1) = 2\delta \sqrt{\beta_m \beta_c} + \cos\varphi_m \left\{ \sin\Phi_c + \cos\frac{\Phi_c}{2} + -\cos\Phi_c + \sin\frac{\Phi_c}{2} \right\}$$
  
remember:  $\sin 2x = 2\sin x + \cos x$   
 $\cos 2x = \cos^2 x - \sin^2 x$   

$$D(1) = 2\delta \sqrt{\beta_m \beta_c} + \cos\varphi_m \left\{ 2\sin\frac{\Phi_c}{2} + \cos^2\frac{\Phi_c}{2} - (\cos^2\frac{\Phi_c}{2} - \sin^2\frac{\Phi_c}{2}) + \sin\frac{\Phi_c}{2} \right\}$$

$$D(l) = 2\delta \sqrt{\beta_m \beta_c} * \cos \varphi_m * \sin \frac{\varphi_c}{2} \left\{ 2\cos^2 \frac{\varphi_c}{2} - \cos^2 \frac{\varphi_c}{2} + \sin^2 \frac{\varphi_c}{2} \right\}$$
$$D(l) = 2\delta \sqrt{\beta_m \beta_c} * \cos \varphi_m * \sin \frac{\varphi_c}{2}$$

in full analogy one derives the expression for D':

$$D(l) = 2\delta \sqrt{\beta_m / \beta_c} * \cos \varphi_m * \cos \frac{\varphi_c}{2}$$

As we refer the expression for D and D' to a periodic struture, namly a FoDo cell we require periodicity conditons:

$$\begin{pmatrix} D_c \\ D'_c \\ 1 \end{pmatrix} = M_c * \begin{pmatrix} D_c \\ D'_c \\ 1 \end{pmatrix}$$

and by symmetry:  $D'_{c} = 0$ 

With these boundary conditions the Dispersion in the FoDo is determined:

$$D_{c} * \cos \Phi_{c} + \delta \sqrt{\beta_{m} \beta_{c}} * \cos \varphi_{m} * 2 \sin \frac{\Phi_{c}}{2} = D_{c}$$



This is the value of the periodic dispersion in the cell evaluated at the position of the dipole magnets.

## 3.) Calculate the dispersion in the suppressor part:

We will now move to the second part of the dispersion suppressor: The section where ... starting from  $D=D^{c}=0$  the dispession is generated ... or turning it around where the Dispersion of the arc is reduced to zero.

The goal will be to generate the dispersion in this section in a way that the values of the periodic cell that have been calculated above are obtained.



as the dispersion is generated in a number of n cells the matrix for these n cells is

$$M_n = M_c^n = \begin{pmatrix} \cos n \, \boldsymbol{\Phi}_c & \boldsymbol{\beta}_c \sin n \, \boldsymbol{\Phi}_c & \boldsymbol{D}_n \\ \frac{-1}{\boldsymbol{\beta}_c} \sin n \, \boldsymbol{\Phi}_c & \cos n \, \boldsymbol{\Phi}_c & \boldsymbol{D}'_n \\ 0 & 0 & 1 \end{pmatrix}$$

replacing the integral over the n cells of the suppressor by the sum over the n cells we obtain for D:

$$D_{n} = \beta_{c} \sin n \Phi_{c} * \delta_{supr} * \sum_{i=1}^{n} \cos(i\Phi_{c} - \frac{1}{2}\Phi_{c} \pm \varphi_{m}) * \sqrt{\frac{\beta_{m}}{\beta_{c}}} - \cos n\Phi_{c} * \delta_{supr} * \sum_{i=1}^{n} \sqrt{\beta_{m}\beta_{c}} * \sin(i\Phi_{c} - \frac{1}{2}\Phi_{c} \pm \varphi_{m})$$

$$D_{n} = \sqrt{\beta_{m}\beta_{c}} * \sin n\Phi_{c} * \delta_{supr} * \sum_{i=1}^{n} \cos((2i-1)\frac{\Phi_{c}}{2} \pm \varphi_{m}) - \sqrt{\beta_{m}\beta_{c}} * \delta_{supr} * \cos n\Phi_{c} \sum_{i=1}^{n} \sin((2i-1)\frac{\Phi_{c}}{2} \pm \varphi_{m})$$
remember:  $\sin x + \sin y = 2\sin\frac{x+y}{2} * \cos\frac{x-y}{2}$   $\cos x + \cos y = 2\cos\frac{x+y}{2} * \cos\frac{x-y}{2}$ 

$$D_{n} = \delta_{supr} * \sqrt{\beta_{m}\beta_{c}} * \sin n\Phi_{c} * \sum_{i=1}^{n} \cos((2i-1)\frac{\Phi_{c}}{2}) * 2\cos\varphi_{m} - \delta_{supr} * \sqrt{\beta_{m}\beta_{c}} * \cos n\Phi_{c} \sum_{i=1}^{n} \sin((2i-1)\frac{\Phi_{c}}{2}) * 2\cos\varphi_{m}$$

$$D_{n} = 2\delta_{supr} * \sqrt{\beta_{m}\beta_{c}} * \cos\varphi_{m} \left\{ \sum_{l=1}^{n} \cos((2i-1)\frac{\Phi_{c}}{2}) * \sin n\Phi_{c} - \sum_{l=1}^{n} \sin((2i-1)\frac{\Phi_{c}}{2}) * \cos n\Phi_{c} \right\}$$

$$D_{n} = 2\delta_{supr} * \sqrt{\beta_{m}\beta_{c}} * \cos\varphi_{m} \left\{ \sin n\Phi_{c} \left\{ \frac{\sin \frac{n\Phi_{c}}{2} * \cos \frac{n\Phi_{c}}{2}}{\sin \frac{\Phi_{c}}{2}} \right\} - \cos n\Phi_{c} * \left\{ \frac{\sin \frac{n\Phi_{c}}{2} * \sin \frac{n\Phi_{c}}{2}}{\sin \frac{\Phi_{c}}{2}} \right\} \right\}$$

$$D_{n} = \frac{2\delta_{supr} * \sqrt{\beta_{m}\beta_{c}} * \cos\varphi_{m}}{\sin \frac{\Phi_{c}}{2}} \left\{ \sin n\Phi_{c} * \sin \frac{n\Phi_{c}}{2} * \cos \frac{n\Phi_{c}}{2} - \cos n\Phi_{c} * \sin^{2}\frac{n\Phi_{c}}{2} \right\}$$
set for more convenience x = n\Phi\_{c}/2
$$D_{n} = \frac{2\delta_{supr} * \sqrt{\beta_{m}\beta_{c}} * \cos\varphi_{m}}{\sin \frac{\Phi_{c}}{2}} \left\{ \sin 2x * \sin x * \cos x - \cos 2x * \sin^{2}x \right\}$$

$$D_{n} = \frac{2\delta_{supr} * \sqrt{\beta_{m}\beta_{c}} * \cos\varphi_{m}}{\sin \frac{\Phi_{c}}{2}} \left\{ 2\sin x \cos x * \cos x \sin x - (\cos^{2}x - \sin^{2}x)\sin^{2}x \right\}$$

$$D_n = \frac{2\delta_{\sup r} * \sqrt{\beta_m \beta_c} * \cos \varphi_m}{\sin \frac{\varphi_c}{2}} * \sin^2 \frac{n \varphi_c}{2}$$

and in similar calculations:

$$D'_{n} = \frac{\delta_{supr} * \sqrt{\beta_{m}\beta_{c}} * \cos\varphi_{m}}{\sin\frac{\varphi_{c}}{2}} * \sin n\varphi_{c}$$

This expression gives the dispersion generated in a certain number of *n* cells as a function of the dipole kick  $\delta$  in these cells.

At the end of the dispersion generating section, the value obtained for D(s) and D'(s) has to be equal to the value of the periodic solution:

 $\rightarrow$  equating (A1) and (A2) gives the conditions for the matching of the periodic dispersion in the arc to the values D = D'= 0 afte the suppressor.

$$D_n = \frac{2\delta_{snpr} * \sqrt{\beta_m \beta_c} * \cos \varphi_m}{\sin \frac{\varphi_c}{2}} * \sin^2 \frac{n \varphi_c}{2} = \delta_{arc} \sqrt{\beta_m \beta_c} * \frac{\cos \varphi_m}{\sin \frac{\varphi_c}{2}}$$

$$\rightarrow 2\delta_{supr} \sin^2(\frac{n\Phi_c}{2}) = \delta_{arc} \\ \rightarrow \sin(n\Phi_c) = 0$$
  $\delta_{supr} = \frac{1}{2}\delta_{arc}$ 

and at the same time the phase advance in the arc cell has to obey the relation:

$$n\Phi_{c} = k * \pi, \quad k = 1,3, ...$$